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Question : 1

PR & ARG H Yug ! § Fifd -

1. I
2. gRa™

3. e
4. faamg @t

Hr fau U e # J I S &7 999 B

A) 13IR2
B) 2 3R 3
C)1,23R3
D) It T §

Answer : A

Question : 2

T ol SR F ARG I8 B WITTAT Y, T fISHTR ITHTT & A B A2

A) TaIfRg
B) faeua
C) Il

D) d&e |

Answer : D

Question : 3

9 & T 5 9= § Ui YRA & 16 HETSHUG] &1 Iooig fHeldT 82

A) SR G AT A

B) 3R & <Y A
C) SR AP/ 9 Wirad g
D) G Mo g Afcgd Her

Answer : C
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Question : 4

T AR H ST BT RIgdhT HRd § UYH IR STl 7 UT?
A) TESTRI

B) 3[HeR

C) TRE
D) 3(ARSE I Raaoir

Answer : C

Question : 5

YR P IS U e & ¥ oH-3 Ioe 3 TR 37

A) IRHAR

B) [t
C) e
D) USITafd

Answer : A

Question : 6

foha YR AT JT (INA) TS Bi?

A) IR TIRDH
B) U= S
C) Yrd Rig
D) TSR

Answer : B

Question : 7

W Sfra SRI Y& ot T

A) Wt f[dde<
B) 3ESH

C) IHRAH! AR
D) XTI TAHIG X

Answer : C

Question : 8

1857 & TWTe=Tar SUH o I JaARM™ A {69 & T 3RSl &1 ghiaan fdbar



A) TR, Yare!
B) /g4, Siiq
C) U, FoaT
D) feuR, R

Answer : A

Question : 9

gl T I T Dls A1-¢1 a1 g 1" I8 fha= wgr um?

INEERGEERS
B) TRGR Ucd
C) HeTeHT e
D) AHH fddd

Answer : C

Question : 10
HAH-T-AT R ford) Sfadnaft &1 Yha g

A) 3G e e
B) TR & THT

C) 3cTH HeHIg
D) 3fcdTh g gTelt

Answer : A

Question : 11

i & gy fAdead U8 §

A) 94 Td HITd
B) 9 Ud b
C) Ul Td gy
D) §¢ Td a% 0

Answer : B

Question : 12

fFafefad # @ few yddia 4ot iR Sreregr et Rid 82

A) ARk ggifear
B) HISMHH UgIfear
C) SFAHATS UgTSal
D) AT UgTfsar

Answer : A



Question : 13
T IR YR & G0 g § frdm gt <= 2nfiya 82

A) 3
B) 5
Q)6
D) 2

Answer : D

Question : 14
HeH a1y, HeH ) SR 9 7t & TH R fRa g2

A) TRTAA
B) Tliarad!
C) SIfaAt
D) HIax}

Answer : B

Question : 15

T} Sifetp & T H FRafafed w foar s
A) g THTI-STEIYA -1cl °1ct # UTs St §

B) 3T RIF A1 34’ §

C) I8 T 3y UWIfd &
D) SWIad g+t

Answer : D

Question : 16
SIS e o @1 i &I g5 B

A) 3faRIT 3R IS 3w

B) o 3R Tpfd
C) IoHIfaP 3R UNraHe
D) SWIed H T &Is gl

Answer : A

Question : 17
ot e gt e gadiaea . Wd @l gl



A
B) oA
C) ura
D) a¥

Answer : B

Question : 18

R fife O sl &7

A) &

B) JTHRY
C) 3{gHaldlq
D) HiuTd

Answer : A

Question : 19
'MNREGA' & fawaia sifore

A) Mahamana National Rural Employment Guarantee Act
B) Maharastra New Rural Employment Guarantee Act

C) Mahatma Gandhi Rural Employment Guarantee Act

D) Mahatma Gandhi Regional Employee Guarantee Act

Answer : C

Question : 20
I TR TS JHRT BT A Fd1d |

A) TR
B) SRISFIRY

0 3&
D) 3IRTY

Answer : A

Question : 21
fay fe=<dt feag-2025 =t fiw (o) @ @2

A) fg=dt : fay iR R i
B) fo=dl &1 S &1 fowd a1
C) UehdT 3R RSP 7RI B Af¥ 3aTet
D) fg=<! URwIR® T ¥ $HH Ffar db



Answer : C

Question : 22
ated ATy gRT 9 B o H Tt el IR S1eadR) 81 -1 3w 399 Jid 82

A) 214
B) 226
C) 141
D) 324

Answer : C

Question : 23

7Y 1 BRIBR T §
A) Tl

B) 1sYquTet

C) yufd
D) TuTTHA

Answer : B

Question : 24
it PRI & Tarer &I Fafd o &) e g oy 82

A) T9c
B) Jd= TaTed

C) yufd
D) TeTHAT

Answer : C

Question : 25
AHIUT g9 TS & ford fodit &bl =gAaq 3T YTt -1 ARl

A) 22 T§
B) 24 Y
C) 25 99
D) 30 99

Answer : C

Question : 26



EARSIINGC] WR 3BT B

A) YA 3Gl

B) ¢l
C) 'A' 3R 'B' I
D) &b ¥WT

Answer : B

Question : 27
T TIfrRiel S H S b A AR 3 B 3R b SITcll 8 | U fobd s b1 urer &l g7

A) 32 & TyH 99 &1
B) <gc & fgdig o™ &1

C) geA & ot oy &1
D) T & Y &1

Answer : A

Question : 28
_ SReg ¥ FEiud uged g gl

A) Y79 TreT
B) SfdhT ST
Q) siie-

D) SfdT TSR

Answer : C

Question : 29
I Th WO 9% H, a6 H R Fwig ex ufafed & am giar |

A) 60
B) 120
C) 180
D) 90

Answer : C

Question : 30
Td JfER BT pH ATHT &

A) 7.1
B) 7.8
C) 6.6
D) 7.4



Answer : D

Question : 31

U T 3! DI YW abedef T & T 3 1, 2, 3, 4, 5 3R 6 UAD Th IR IUTNT fbT o1d &1 o fob i
3T DI T abe, 4 T FAHIT &, bed, 5 T FIHIG B, cde, 3 I fAHTRIT ® 3R def, 11 gRT fauia g1 a8 T=m
g

A) 325461
B) 324651
C) 324561
D) 326451

Answer : C

Question : 32

fFfafad 29e o Wd B

(60 + 64 + 4 HT4) x {1000 + (10 PRI (3 + 2)) x 2P[5)} —28 + (100 x 3 P[ 3)

A) 600
B) 1000
C) 500
D) 100

Answer : B

Question : 33

U JeaiaTSl BT §1F 7l 7 3M9d TR 15 g 3R U= 30 J9 # 3fid TR 24 g1 94} tarey #=f & sied
THR J1d DI

A) 22
B) 19.5
C) 20
D) 21

Answer : C

Question : 34
gfg 3% — 3271 = 18, @ 2 &1 A T gNM?

A) 27
B) 29



C) 30
D) 32

Answer : A

Question : 35
e (A + B) BT 20% = (A - B) BT 30% 8, dl B BT a1 UFTRId A & SRR 82

A) 300%
B) 100%
C) 500%
D) 400%

Answer : C

Question : 36
fafeiRaa s 2reg &1 gavT 31 Jasy

3h-35
A)

B) 3T
C) aui
D) 3FTSl

Answer : A

Question : 37

foffed & @ H1F-91 Weg a1 o1 2P W Y 77

A) %9
B) HY
C) 'A' 3R 'B' gl
D) A

Answer : A

Question : 38
g 7 Q P9-1 g/ RYg-faRivr &1 IR g2

A) TE TR AHS! UETS W ©
B)mufwﬁménrﬂmzn
C) I¢1 HAlad dgh R TSI UT
D) TSRTdT HTNT &1 31T BRI




Answer : B

Question : 39

TeRaT | HH-IT I 82

A) TH
B)
O IR
D)

Answer : C

Question : 40
fFafafed & 3 SH-91 s a7 82

A) I,
B) §eal

C) 3dcH

D) BT

Answer : D

Question : 41

Fill in the blank by appropriate preposition.

The place is infested poisonous snakes.

A) with
B) in
C) from
D) by

Answer : A

Question : 42

Find out the correctly spelt word.
A) Monstrous

B) Monsterous

C) Monstorous
D) Monstorus

Answer : A



Question : 43

Choose the correct one which can be substituted for the given sentence.

An object or portion serving as a sample

A) Specification
B) Spectre

C) Spectacle

D) Specimen

Answer : D

Question : 44

Directions (Q. Nos. 44 and 45) : Read the passage carefully and answer the following questions.

Gandhiji recognised that, while all men should have equal opportunity, all did not have the same capacity.
Some had the ability to earn more than others. But he believed that those who had talent would be
performing the work of society, if they used their talent wisely and well. Gandhiji said that he would allow a
man of intellect to earn more and not suppress his talent. But it was his view that the bulk of his larger
earnings, should go to the common fund. Those with talent and opportunity would find their fulfilment as
trustees. Gandhiji extended this concept of trusteeship to cover all fields of life.

Question-44 : Gandhiji never believed in

A) social equality

B) equality of opportunities

C) political equality

D) complete equality in all respects

Answer : D

Question : 45

Directions (Q. Nos. 44 and 45) : Read the passage carefully and answer the following questions.

Gandhiji recognised that, while all men should have equal opportunity, all did not have the same capacity.
Some had the ability to earn more than others. But he believed that those who had talent would be

performing the work of society, if they used their talent wisely and well. Gandhiji said that he would allow a



man of intellect to earn more and not suppress his talent. But it was his view that the bulk of his larger
earnings, should go to the common fund. Those with talent and opportunity would find their fulfilment as

trustees. Gandhiji extended this concept of trusteeship to cover all fields of life.

Question-45 : Gandhiji's trusteeship concept is

A) a philosophy

B) applicable to social life only
C) applicable to all fields of life
D) irrelevant today

Answer : C

Question : 46
fAgferiaa vy o fau e fawedl & ¥ favy ug 3@ sifsm|

A) ORTU
B) XZCH
C) MORW
D) PRUZ

Answer : A

Question : 47
fau U famedt o ¥ faww wsg &1 gful

A) ST
B) tar
C) TR At
D) ¥ha

Answer : D

Question : 48

foadt w7, Ife "WATER' &1 'XCWIW' & =0 H 3R 'DREAM' 1 ‘ETHER' & =0 H DIg fhar SIraT &, df It I
T TIGER' ! H¥ Bis fHar smum?

A) VLKIX
B) UKW
C) VKJIW
D) UKJIW

Answer : D



Question : 49
frafaRad uy o SrTe/dw ue I1d SIS

672,677, 686, 699, 716, ?

A) 749
B) 747
C) 757
D) 737

Answer : D

Question : 50
A% BB A B, ‘A BHI AT B

A$B BT 3 g, ‘A, B BT ST g |

AB BT IS B 'A, BB I8 &I

T H%I$ISKAL BT, dl H, J T forg PR T rafRid 82

A) TYd/a
B) 91
C) Urcf/aE
D) §cT

Answer : C

Question : 51
TI-6000 FT &, oI WRast, 2025 B 78 R IHAdIgad U & 3R URTer0r 11 fare

A) U@ A& ggurd

B) g} 4% | MY A dTell Uid

C) It et ot TeY T | e arelt ug st
D) Ut & iId I aral g

Answer : C

Question : 52
16-25 TR, 2025 A 18 foeat! B AT Snfearht Helaqd-2025 BT WUfie I a1 UT?



A) U8 FHAT T TIPS BT IGTaT ST

B) HRd & 3Mfear favrad, oo, fRIey, il 3R TRERTSHT BT 518 FAHT 3R 37T UeRH Bl
C) AR AMUR A BT AT HRAT

D) Td 3R ARG g & ggrar &1

Answer : B

Question : 53
s, 2025 H foa RRR Twie &gl smaford faar s

A) 7% et

B) ARG

¢) far-gi-sAfar
D) ST

Answer : C

Question : 54
30 2025 H {5 ITe BT HIMferd Fobd (GI) <71 UeH fovar mar 82

A) TARY! TrSt

B) Y UTH U T U=l
C) HidIgRH Rich

D) ATTYR Ic_T

Answer : B

Question : 55
ToT forme e RRER TRITH 4 30T 2025 Dl Bl mAfoId fovar mam

A) DIGHIG
B) S&ldp

C) Il

D) T8 facett

Answer : B

Question : 56
{3 a1 B 9 T St UfAHT BT SFTERUN 1 7 2025 B T3 foeah # fvar mar

A) IR AR

B) ~dToil UTY d I
C) SISIHT U= AT Sl
D) YiTd g

Answer : C



Question : 57
YR $T I8 TS T B AT g oA Al-31emia Rad-ergn wike /ad Red = far g2

A) HERTY
B) STRIES

C) B
D) A UK

Answer : D

Question : 58

Hs 2025 H TRRITT MSMEs SifRifefeaay 37 sfear Ruld fea ot a2

A) YR Roid
B) It S&

C) ifcr smanT

D) MSME HATe

Answer : C

Question : 59
It AT fa%y HT 2035 B ASEF! BIH-TT S B2

A) 3iRefer

B) g-lec s fdhiren
C) SISl

D) SISl

Answer : B

Question : 60
YR 1 6241 AFTT FH {Gad el H=ram T
A) 6 370 2025
B) 5 30 2025

C) 1 3MUd 2025
D) 15 30 2025

Answer : B

Question : 61
TISId JTdTg B TR SIldl 2



A) 12-19 SHa3

B) 2-8 3{aTER
C) 21-29 A
D) 7-15 WK

Answer : B

Question : 62
URNg a1 IS fa] @H gRT SoIdT o Tl 919 @

A) IR
B) drafe
) 7T
D) X

Answer : A

Question : 63
faraere ofrg uforyf ude of feg ewr A gl 82

A) U T

B) 3iIRc et

C) TS

D) 399 I PIS e

Answer : C

Question : 64
J T YT b TXHIV DI THAT FRA 3R HRA QRIA (1895) H UG B | TNTe faar|

A) TSR . Tee
B) faferad o
C) I fydq
D) RaS PHi-d

Answer : B

Question : 65
7% feee fRUd Ipufal 4o S (T MeH) Bt SfiaedH foram i o

A) IR TSfa gfiea—
B) 1S ol

C) QTESTg!

D) WSl BIfET



Answer : A

Question : 66
SRR 3116 € 3 TRBR ERT U fobd S € |

A) UNDP

B) UNFCCC

C) UNEP

D) T 1Y HETHHT

Answer : C

Question : 67

9 A q B9 91 3 Wb (SAARC) BT & -8l 872

A) YT
B) T

C) SaTex
D) AUTd

Answer : B

Question : 68
HITol 1y Tl &1 Il URd & A d 9 {69 RF R g2

A) DITER
B) AYXI

C) Ya3R
D) 3GR

Answer : B

Question : 69
fora @a & ufaufir & weifere’ w81 o 82

A) GFhaTSIt
B) <
C) §lal
D) Ssftic

Answer : A

Question : 70



HIS O : CRAWBITHT S ¢ TR T & AP DI 62

A) SI. TU S, 3fegd HelH
B) S1.a. RAfCHT

C) AIURIAR 3R

D) &1.3R. =gl

Answer : A

Question : 71
= (0.9. 71-75) : FEfREd T @ AFYdS UgHR 39 WR TR U4l & IR iy

8T 9ardT § % YRA 3% UHR & Widhfad SMucrsii &1 RIGR g1 381 8 | Iehald, a1, Y& 3R JJ1 378
I U UGS €1 S & 60% H-HTT fafid diadrefl & YoHw &1 TrTaHT arat & 8, Safd IR dRIg gaedr 4
31ferep & T ST Bt JRHTSHT S Ig il & TUT 68% & T T BT 3MTRIebT HUSIA I8! 81 3TY 7 Had goIR oifa
1 &ffdl BIch B sy W) T & ol Wreriies ok ardwie uRemfat ot afd ugerd 81

Y agfAe SR Hifds w0 F 37 F YR Tl g2 8, Afeh sugrelf & SR oH-4F BT &fd & wt gielt e
feams et YRA WRHR 7 U 3Mue] Y= RS0 H TS uRac fbar 81 78 -ifd 3id Fad Aed uga™ dob
ity 7€t 8, afcw smuarshi ¥ fue &t qaiikal, 3% I 3R 9919 WR 16T SR a1 off @1 81 P& & a8
gRac 3 URTSM & HeRaRey 31T ¢ b s Ufehan & 9Id e 3Gl JH &1 Sfod RIT g1 fear o, fdem
DI Ufehar T THY I SR Tt ¥ S Fhall | WBHR & ¢ =PI o7 U Hew@yul ugq a8 ot § f smuer
I & I fapr § TafRAd it &t 7 SgA S = suet yewA o1 Hifovrd g ® U Aew@yul M g,
Ffe AT SR dfera a1 &) il smuerstt ¥ ga sifde yuifad gid |

3TIST YA Th Sg3mandt &F g1 399 AH YaigaH, dd1a-, 9919, Jed, GAHA 3R gai e g
TR, 1D, ASHIGR, WHHad AR Jer It 39 agommd varg ¥ 819 s g1 37! YHS 3R
TRAfIRAT STUeT & Ugd, SUaT & TR 3R UGl & a6 Hew@yul aidl & | A Ft Tiafafd T -gmk &1 @ ¢k
eI it § 3R gfer 37 fafafiay & wwag fAdra siawge g

uy-71 : Fgfiad & ¥ oH-91 Hy= 97 781 872

A) 3¢ iR dfera @ € T faes soersht ¥ e SaTeT UHTfad 8ld §
B) HRd 3% UHR Pt UIGfad Mucraif 1 RIeR giar 381 8

C) HRd WRPBR 7 30 3T Ya=H PHI0 § 3d uRad- fbar g
D) UThfads 3uersft & &R SH-49 o1 affd o Ht 3rrE 7

Answer : D

Question : 72



&= (0.9. 71-75) : FETRET T & AFYdS UGHR 3H WR MR T4l & IR il

SR 1T § o URA 3M® UHR & Widhfad uerstt &1 fRIGR gidT 8T 8| Ihard, a1g, Yot 3R @1 379
Y U 3AMUSTE &1 S B 60% H-HIT fafid dfadrefl & Yor & FrTaeT o 8 8, Safe IR dRIs gaedR ¥
3R & T §1G BT TRUTGAT ST I8l § T 68% & H T T MRIehT HUSIICT I8! & | T -1 Hhad gkl oia-
1 &fa gielt & afees U A & fofl, Yrgeriie SR arde-e ufawf ot afd uged 71

gt e iR Hifde FU T 2 & YK UIfa 88 ©, Afp 3Mucre & &R oH-4+ Bt affd 7 St gielt =7gt
fears T HRA WBR 3 3(0H 3MueT yer efPbior H et uRad- fbar 81 a8 i 3/ Fadt Igd Ugam d
Tiftrd 7t 8, e anmueral | Fues B Jaial, 9% T 3R T91d W S1eT SR a1 &1 1 81 e & a8
URacd 37 URTSH & HerRaRey 311 g fob faehy ufehan o 9id e Siual IHH &1 3ferd I 181 fean s, faswma
DI UfohdT T THY I ST T8t T Sl Febel | TRBR & T DI BT Ueh Hewyul Usq I8 +f § fb et
A & IUT faery § wafRAd it & 7 Srgee S =nfee ) siuet vewA o1 HiferTd g H U Aewyul F g,
i e 3R dferd T & wiepfae smuersli @ e aiftre yHifad 81 B

3{TUET Y= Uh Sg3AME &7 81 S99 HIgH YaiqaM, e, §a1d, Jgd, GAHA R garg fia g1
U, d1H®, AoHTHR, Wadad AR Jgerd Tt 39 agamardt o # g1y serd §1 S9! YAHIE 3R
Tfafafeat snuer & Ugd, 3uer & SR 31k 3uel & aTe Hewyu! gidt 81 3 @it iafafie te-gm 3 e 3R
eI gl § 3R ufere 37 nfafafial & w-ag fAdra siawge® g

UY-72 : GO9Y BT 3 @

A) g™
B) 9HH

C) HMdl
D) fiaradt

Answer : A

Question : 73
= (0.9. 71-75) : FEfREd T @ AFYdS UgHR 39 WR TR U4l & IR iy

SR 91T § o YURA e UHR & Widhfads muerstt &1 fRIeR gidT 6T || Ihard, alg, Yot 3R @1 399
Y T 3MTUCTY €1 = & 60% Y- faftd Faarsit & Yor Ht Gr1aT arat 8 §, Sdfh IR HRIS gaedR
31ferep & T ST B JRHTSHT S I8l & TUT 68% & T T BT 3MTR{eT HUSIA I8! 81 3TY 7 Had goIR} oifa
1 &ffdl BIch B sy W) Tem & sl Wreriies ok ardwie uRemfat ot afd ugerd 81




Y agfAe SR Hifds ¥u F I F YR Wi g2 8, A suarsif & SR SH-4 BT &fd & Ht gielt et
fearE TR HRA WBR I 3(0A 3muer ye o H et uRad- fbar 81 a8 i 39 FHadt I8d ugam d
Hiftrg 78t &, afews smuerstt § Fue & qulal, 396 I iR §97d WR Sa1el SR far 51 %81 81 =Pwiur & a8
URadH 39 YRTST & THeRdey 3T ¢ fob fasr ufshar o 9id d 31uet I &1 Ifrd R 781 foan s, fawr
DI UfohdT TS THY dF SIRT -Te! IWT Sl Tabell | TRBR & ¢ DD BT Uh Hewyul Ueq a8 ot § fb smuar
I & I fapr & wafRAd it &t 7 oA S =i suet vewA o1 Hiford g ® U Aewyul ™M g,
Ffe AT iR dfera a1 &) il suerstt ¥ ga sifdes yuifad gid €|

3TIST YA Th Sg3mandt &F g1 399 AgH YaigaH, Jd1a-, 9919, Jed, GAHAT 3R gafy e g
RN, aRTH®, AoHIHR, Wadad R J9er Tt 39 agsmardt v § 819 serd §1 S YAHIE 3R
TAfIRET STUeT & Ugd, SHTUaT & TR 3R $MUGT & a6 Hewyul aidl & | A it Tfafafdl Toh-gik & @ @ik
TGS It & 3TN SNy 3 TfAfafRRl & wrag A o g1

UY-73 : 3MUST YA & UM [Apr q Tafd i feg &7 H 3T o =nfge?

A) f@IF & a3 o
B) 3 & A
C) IoHifa® &7 o
D) ¥ gt

Answer : D

Question : 74
fd=r (.9, 71-75) : Fgfafed W & eaYd® Teas 39 W STURd Ul & IR dIfore

S8 T € o URA e TSR & Widhiad uerstt &1 RIGR gidT 8T 8| Ihard, a1g, Yo 3R @1 319
T TG SIS &1 S F 60% Y-HT faftra fadreii & Yo &t TIET a1 87 €, Said IR IS gaedR J
3t &1 T §1g B TRHTGAT ST T8l § dUT 68% & T T BT 3MTRIehT HUSIIT I8! 81 I - had gkl Siia=
o efa gielt § afces s A & ol Irgeriie siR arde-e ufawfr ot afa uged 81

T 9 SR Hifds U I = & YRt WIfd g3 8, Afe snuetsft & SR -4 &1 afd & FHHt gielt et
foars cft| YR WRBR ¥ 37 HTuaT Tae efPebiu § 3mye uRad fbar 31 a8 -ifd 39 ot Ied Ugam do
it 721 8, st amuersit § Fues &) daial 39 T 3R S| W Sarel Wik fear o 361 81 e § ug
URad 37 YRT3N & HeRaRey 31T g 1 et ufshan § S1a de 3mueT IH- &1 Iferd R A8t fear Sirar, faer
D! UfchdT A THT I ART AT6] W off Wbl | RBR & ¢ VDI HT Th Hew@yul Ugq, I8 1 ¢ & emuar
YA & IUN fahr & TrafRid Tt & § S/uHTe S =nfeu| 3ueT Ua=MA &7 Hifaid g & U Agwaqul RIF B,
P e 3R dferd v & Uipfae suersit @ ged eiftie yHifd 81 B




3{TUST Y= Uh Sg3AM &7 81 S99 HIgH YaiqaM, e, §a1d, Jgd, GAHA R garg wfia 1
YR, d1H®, AoHHR, Wadad AR Jgerd Tt 39 agamardt v # g1y serd §1 S9! YAHIE 3R
Tfafafeat snuer & Ugd, 3Muer & SR 31k 3uel & §Te Hewyu! gidt 81 3 @it iafafie te-gi 3 e 3R
eI gl § 3R fere 37 nfafafday & w-ag fAdra siawge® g

UY-74 : YR PR 7 30 3T Y= VB0 T S uiac ot fovan g2

A) T SHDT I5¥Y bae Aed Ugd &

B) Riifd 3MUST I Y-519 BT &ifd F HHT 31 ©

C) 3MTUeT Ua=H &1 TR o0 TRPR B 8§

D) e faeeT ufpar & 3muer-wH= &1 Ifad =M feur S smawus §

Answer : D

Question : 75
= (0.9 71-75) : FEfREd T @ AFYdS UgHR 39 WR TR U4l & IR i

8T 9ardT § % YRA 3% UHR & Widhfas SMucrsii &1 RIGR g1 381 8 | Iehald, a1, Y& 3R g1 378
I U UGS €1 S & 60% H-HTT fafid diadrefl & Y&r &1 TrTaHT arad & 8, Safd IR dRIg gaedr ¥
31 &1 H ST BT JRITAT &t IGT § TUT 68% & H T P 3T HUSIA I8! &1 TTY 7 bad goIRY Siid
1 &ffdl BIch B sy W) T & ol Wreriies ok ardwie uRemfat ot afd ugerd 81

T agfAe SR Hifds w0 F 3 F YR WIS g2 8, Afeh sugrelf & SR oH-4F BT &fd & wt gielt et
feams et YRA WRHR 7 U= 3Mue] Y= RS0 H TS uRkac fbar 81 78 -ifd 3id Fad Aed uga™ dob
ity 7€t 8, afcw smuarshi ¥ fues &t qaiial, 3% I 3R 9919 WR 16T SR a1 off @1 81 P & a8
gRac 3 URTSH & HeRaRey 311 ¢ b s Ufehan & 9Id e SMUal WH &1 Sfod RITF g1 fear s, fdem
DI Ufehar T THY I SR Tt QT S Fhall | PR & ¢ =PI o7 T Hew@yul ugq a8 ot § f smuer
I & I fapr § afRAd it &t 7 oA S = suet yewA o1 Hifovrd g ® U Aewyul M g,
Ffe AT SR dfera a1 &) il smuerstt ¥ ga sifde yuifad gid |

3TIST YA Th Sg3mandt &F g1 399 AH YaigaH, ddia-, 9919, Jed, GAHA 3R gai e g
TR, 1D, ASHIGR, WHad AR Jer It 39 agommd varg ¥ 819 s g1 37! YHe 3R
Tfafaferl STuer & Ugd, UGl & GRI 3R HTUel & a1 Agw@yul gidl 8 | 3wt Tfafafrl te-gw &t @ &R
TEF gldt & 3R 3HfT 39 nfafaft & vy Fara g gl

WH-75 : TR TI=T &1 qaiiied Sugad e fHafaRad & 3 31 gme
A) T idd 3TTar

B) 3fUcal Ud=

C) I gafgaH



D) fa&ry ufshar

Answer : B

Question : 76
fd=1 (w. H. 76-80) : FEfARIT TN ®T AAFYd® TgHR 3 W SR Ul & IR dIfoTg |

afe 3a N Y & el Afad §, S Garp® e I T g, oo o SR SR Triguf wie! & SR, oo
W ¥ forg T 3 A1y R & frw ok 9t wdwaaT g1iia 9 & o, U SgeR ey = @ & o, sroe
WE & AEl BT U A T R S BRI U a1 & o Udhele Tay 78! aR U1 IR § o 89 Sl 30
i1 B, 3MThT 33T TURTH R I8 & 3R AR i T9 38 I8 € 3R a9 MUt St & for afs R ot 9
JETHiem FThd Td STeHd ¢, a9 gad Rufa & feft S oo umfa & at sm=md FR1UR € aut S &t
fufa ¥ arda & YR &1 7 a1 it TecR PR B SRexd ¢ 3R T & I8 ITP HIed 8| had dHt Siafds 34y
U7 &Y A8, 3T 3 3{eHT-3(THT ST Bl B8 7 A, 378 3T Iyl g4 auT IS Ty sl ST said
forar STeem, Sifes Som o=t fRuf ot SaTs 81 SFISH &l T HRA &1 &7 HIqH & |

3 3 ORE $I Pl BT 7 14 fob 3PS B Tt Aewaynl Ml )R avolis < o @1 8, |ife afe s iR
IE TNB-HIGT T8} 8, JAlp Y B BT 98 YdHeIUIHTR! THUU 181 8, oI Teial 310 ST & fgal & forg sro
foht fedl &t omgfa & < 98 <w1-0m 7161 § foram ofiell o1 39 fRufa W @ faan &, STel 9 3ol § a9 35 Moy STeT
Rofig faar o S 8 8 SIR gs Wt Sl oIk SruRerd 81 8 f 3 el sfus e § SR Mgy &), 9 simush
UNH R Hal-4dl 98 db &1 99 W|A, TG b & 37 37 gRAfdHarsit &1 M Td 395 IR B &1 &
forT TR 8 © b STeA-afere™ U 1:%ared Tar-yrae &) Tad-adr quT GRIgTa! Ui - & folg 35 A/ 5|

WY-76 : Wa-adl YT $H=A & 3 A1 & =0 & fgfofad & @ forge! ==t 76 &1 78 82

A) 3fTH-gfeH

B) f:xare Jar-yrar
C) <¥-UH

D) SWRIad H T HIs gl

Answer : C

Question : 77

3= (0. 3. 76-80) : FEfIRId T &I ATYES Ugdhr 39 W ARG U4 & IR I

T 31U S TF & <l A &, S Talep® &M J T g, 3 ol SR SR Wiyl Jaiei & SR, 3
W & oy quT oo Y fod & T ok SISt Waardl §1RId = & oY, T dgaR el I a & g, s
T & A BT U B A 3R 1w GG U dx & 1T Uhgje Uy 78] R U1 I € < 89 S 310k
i §, MU BT URTH TR 32 € SR R fRieh 9 35 32 € ok 79 st Sga’t & for afd o ot
JAHN FYFd T Hreufd 8, a9 gaa Rufa o feedt dar 9o wifa & wft smmd AR1gR § qur o &




fufa ¥ araa & YR &1 7 a1 ot TecR PR &I SRexd ¢ 3R 7 & I8 ITP Pl 8| pad dHt Siafds 34y
T &Y 918, 31T U 3fAT-3fAT 3MhIT B §H T YA, I MU IAe 87 aul 3MUdb 1Y &= ol gdia
forar SiTeem, Sifes Smom o=t fRuf ot SaTs 81 SFISH &l T HRA &1 &7 HIqH & |

3 3 ORE $I Pl BT 7 14 fb 3PS B qft Aewaynl Ml )R avolis < o @1 8, |ife afe s iR
IE TNH-HIGT T8} §, JAlp Y B BT 98 YdHeIUIHTR! THUU 181 8, oI Teia 310 ST & fgal & forg sro
font fgdl &t omgla & < 98 <=1-0m 7161 § o ol o1 39 fRufa o a1 faan &, S8l 9 il § a9 35 SHToY ATe]
Rolig faar o S 8 8 SIR g W Sl SIR SruRerd 81 8 f 3 el ofus e § SR Mgy &), 9 simuh
UNH R Hal-ydl 98 db &1 99 [|A, 3G b & 37 37 gRAfdbarsit &1 A Td 375 IR S &1 &
forT TR T8 © o STeA-afere™ ud f1:%ared Tar-yraH & Tad-adr quT GRIgTH Ui & & folg 35 A/ 5|

UY-77 : TRd TR H forg Tuef &t =i 1 778 82

A) Wadddl & forg o

B) J9fd & forg To

¢) st T & ferw
D) 3Mfdfes TTfa & forg T

Answer : A

Question : 78
3= (u. 3. 76-80) : Fgfifad T &1 eaYd® UgHR 39 W UG U & IR vl

gfe MY i Y & el Al &, S Farp® &M T T g, 30U ol SR IR Wrigul wiieHl & SR, $fu
WG & forg T 3 ATy fod & forw ok St Wdwaa g1RIa ax & o, U S5k Wil 2= @ & forg, oo
T & TTal BT U B T IR 1fIF fFRGRY U -7 & oy wapge a8 &% u7 3 § df g9 S 31U
25 B, SHTUehT 3T TURTH &R @ ¥ 3R R fRieh = &g 3R § 8k a9 3imues! agadt & fow afe o &) o
JEhiem Fhd Td STed 8 a9 gad Rufa & faft S g umfa o adt smem fAR1aR € aur o &t
fUfy & g & YRd &) 7 @ {Ht IgdR PR B SRR § 3R 7 81 I8 ISP HI9d ¢l had aHt Siafe 3y
U7 Y TMEd, 3T U 3MeT-3IATT MThI Bl &8 7 GATE, 36 3T IS Q7 qUT IS Y T=) ST Fdid
e Srem, Riifes Srue 3ot fRufy uet aars 81 SRISH 1 P B BT &1 HIeH 3 |

3 T TRE DI Pls RGBT 7 A1 fob S B Gt He<aqul WMl R aRolig < o1 @1 8, Fif afe s iR
Ig Ab-HIGHT el ©, TalPp P PIfe BT 98 AHTIBGRI THYU gl §, ForId Iad 39 ST & el & forg oA
foht fedl &t omgfa & < 98 <w1-0m 7161 § foram ol ot 39 fRufa W @ faan &, STel 9 3ol § ad 35 Moy STeT
Reolig faar o &1 g1 § SR g Wt Sl oIk SruRerd 81 8 i 3 el iU e § SR My &), 9 simuh
UNH R Fal-4dl a8 db &1 99 W|A, 5F db & 37 37 aRafdmarsit & M Td 396 IR S a1 &
fore daR 8 § b rer-afere™ ud :xared Tar-yrem & Tad-aar quT GRIgTH! Ui a3 & forg 35 AFi g |




UY-78 : 3N Weq BT aTea o1 77

A) I
B) FRIUR
c) faa=mar
D) T

Answer : A

Question : 79
3= (. 3. 76-80) : FEfIRd T &I ATYES Ugdhr 39 W ARG Ui & IR v

fe 3Ta S Y & el Afad 5, S Garp® e T g, S0 ol SR SR Wrigul waie! & HRUT, Sfu
W & oy quT oo Y fod & e ok St Wl §1RId = & oY, T JgaR el e aF & g, s
W & TGl BT Ya R T 3R 31w RRGRY U $r & oy Uebe o 761 9% 01 @ €l g9 S 31U
i1 ©, ST BT TORTH I 3% & SR BAR faRieh 9 &8 W@ & ok 9 oius! dgadt & forg e Ru= &t
JADBEN FYFd T HTeuHd §, a9 daa Rl T foedt War 9o wfa & aut St ARIUR § aur o &
Y & arda & URA &1 7 a1 fell TeR WBR BT T § 3R 7 8 T8 3T HIfad g | Had avft srafes 3ma
T &1 98, 31T U 3fAT-3fAT 3MhIT B §H 7 YA, ST 3T IAe g qUT 3Mud 1Y §=) ST ddig
foram SiTeem, Sifes o o=t fRuf a8t 9aTs 81 SFISH & BT HRA &1 &7 HIqH & |

39 3 IRE B! Pls RGN b ST &1 Gt Agwaqul RiF! R dRolg < 571 8! §, Fife afg s fiaR
IE TANH-HIGT T8} 8, JAlp Y B BT 98 YIS THYU T8} 8, oI Teia 310 ST & feal & forg sro
oo Rl 1 amgfa & ¢, a8 aw-0W et § R Sl o) 3 R wR o fean B, ofe 3 31l € e I 3R Sl
Rofig faar ST S 8 8 SR g W Sl SIR SruRerd 81 8 f 3 el sfus e 8 SR My &), 9 simush
UNH R Hal-ydl 96 db &1 - A, TG b & 37 37 aRAdHarsit &1 T Td 375 IR B &3 &
forT AR 78 © b SiTeA-afere™ U :%ared Tar-yraHT 81 Tad-adr quT GRIgTa Ui e & folg 35 A/ 5|

UH-79 : UK TR H fhen! XMes Ud dai-edf Sarar 71 82

A) 3T ST B

B) 3{USH &I

) FA:waref Jar-yrar
D) TRBR! GaATorH] ol

Answer : B

Question : 80

=1 (0. 3. 76-80) : FEfIRId T &I ATYES TgdhR 59 W ARG U4 & IR I



afe 3a N Y & el Afad &, S Garp® e I T g, oo o SR $fR Triguf wie! & SR, oo
W % foru qum oo Ay fRd & o oI 9t Wawad g1 A & o, U Sger Fwier 3 @M & forg, o
WE & AWl BT U IR T R S BRI U a1 & fog Udhele Tay 78! aR UT IR & of 89 Sl 30
i1 €, ST SoT TORTH R 3% & SR BAR faRieht 9 &g <@ € ok 9 oius! dgadt & forg are o= &t ardt
JAHEE Fhd T STedf-d §, a9 gaae fufd & foft T a& wifa & 9t emem FR1uR § avr st &t
fRufa o araa & URA & 7 A fHf IgR PR B SRR 8 3R 7 81 T8 ITb HIad g1 Had avt afes ma
U7 &Y A8, 3T 37U 3{THT-3(THT SATHI Bl B8 7 A, 378 3T Iyl g4 aUT IS Y s S Faid
forar SiTaem, Sifes o o=t fRuf ot SaTs 81 SFISH &l T HRA &1 &7 HIqH & |

3 3 ORE $I Pl G T 14 fob 3PS B Tt Aewaynl Ml )R avelis & o @1 8, |ife afe s iR
IE TNH-HIGT T8} §, JAlp Y B BT 98 YdHedIUIHT! THYU 181 8, oI Teiel 310 ST & fgal & forg srom
font fgdl &t omgla & < 98 <=1-0m 7161 § foram ol o1 39 fRufa o a1 faan &, S8l 9 il § a9 35 SHToY ATe]
Rolig faar o S 8 8 SIR gs W Sl oIk SruRerd 81 8 b 3 ofel fuss e § SR Mgy &), 9 simush
UNH R Hal-4dl 9 db &1 99 W|A, TG b & 37 37 gRAfdbarsit &1 M Td 375 SR S &R &
forT TR 78 © b STeA-afere™ U :%ared Tar-yraHT 8 Tad-adr quT GRIgTa Ui e & folg 35 A/ 5|

WH-80 : foheh! TNRIT R URd 7= b feram mar 82

A) fe <

B) iU

C) Agardm el aI
D) YR Sl

Answer : D

Question : 81

fader (0.9. 81-85) : T fou U I Y e | Ufeu 3R ISP < T 7T wsi F IR AR

3 faftrer dbufat & fafte faurl & srika SH=ial o1 de @@ dos! #)

—e— Tl A
—k— PUGI B
: of"".\
E 7 A\ 'y
BT v~
N A
2 \
0

IGEIC



UY-81 : ST B & YU fqUNT & SRR HHAIR! &1 G- ST H SRR HHANRT B ST BT foha
gfo=a g 2

A) 30
B) 28
C) 23
D) 32

Answer : B

Question : 82

= (u. . 81-85) : T fRT T I 1 o T ufeu iR I = faw w uehi & IR v

< faftrr ufat & faftre faur & srid sl ot e (@@ Iws! 7H)

—a— SUall A
—k— PUGI B
: of"_’.\
. 7 A\ 'y
6
BT v~
4 .
3 L
2 T
1
0

IES. vasn fuver @ uonser
iGHIC

UY-82 : T ST o TR AU § e HrRd HHARE! Bt od -1 HI gl G-l & fodd Ay
¥ foreTTeR BriRd SHTRAN | SHHE: T 3UTd &7

A)1:3

B)4:3

C)3:2

D)3:4

Answer : D

Question : 83
fAdw (u.H. 81-85) : T feU U U1 &Y &4 ¥ UfeU 3R I A feu U Ui & IR |

3 faftrsr uf-ar & fafte favml & Srika el 3 Je (@& Sas! 1)



¢ S

ba e s b v - G0 D

oIyl & I

o =

AR valR. Auuel @ gonser
IGHIC

UY-83 : HHI A & T, 3R, FHUNT H SR HHANG! ! TN HH- B & ot faUTT § HriRa sHaial ot
BT BT AHAT fbaa Ufe=rd &

A) 44
B) 207
) 53

D) 229

Answer : D

Question : 84
e (u.9. 81-85) : 17 fou U I 1 A | ufey 3R IS A= faw T uhi & IR v

3l faftrs sufal & faftr fumT & srika SHaRal ©f Te (@6 e H)

—o— HUail A
—h— UGB
: "
B 7 ‘\ 'y
6
B T v~
3 L
2 T
1
0

AES. vasae fuue @ uonser
IGEIC

UY-84 : Al ST B & 318,21 [IUNT § SRR HHANRAl &1 W& § 20% (G 1 9, d HH B & .l
U 3R BT A & UM faHTT & SriRd SHaRal & T= & S fra=r 3R grm?

A) 500
B) 350
C) 700
D) 400



Answer : A

Question : 85
fad=r (0.9. 81-85) : 2 fou U I P e @ Ufeu 3R I A faTw 7w wsif & IR SR

< faftrr ufat & faftre faur & erid sl ot e (@@ Iws! #H)

—8— TUGLt A
—k— PUGI B
z "
E 7 A\ Fy
BT~
4 ¥\e
3 A
:

AECT valdE. fduue fda  vanse
IGEIC

UY-85 : BT A & G AU & Hrf S are HHaRAl S e 9l ST B b IHT faumT # Hrf A ard
HHATNGT Bt TBT P Aed fohaT 3R 87

A) 640

B) 550

C) 500

D) 710

Answer : B

Question : 86
fAdw (u.H. 86-90) : T AU UTH T M T 3eTTT PR IS 91G 314 T Ui & IR <o

Ul {TT- T ATT3A1 B HriRd Afgarsii 3R gos &t TRem



B aifzemd
(It
3500 —
3000
E 2500 B
G 200 Z A
© 1500 2 ] -
% 1000 TH —E —E n Bm Be
500 H - ] -
0 . . .
A B C D E
Jeroat

WH-86 : T3 D H HTH B3 g YU &I WSAT, I TS | H1H B g $o HHATRA! o1 TS BT b1 ufa=rd
§? (GIHAd & I1G &l 3! adb guifferd)

A) 54.17
B) 62.64
C) 52.25
D) 61.47

Answer : A

Question : 87
g (0. 9. 86-90) : T AT U &7 & § 31e00 HR ITP 1 3 91 U & IR S|

T 3{THT- 3T 31 H BriRd Higarsil 3R Joul & e

Afgend

] g»u
3500 —
3000 -
2500 Z
2000 Z

cilell &6t Fze=n

E

1500
1000 T
500 H

WY-87 : W16 A & AZATST & WA BT YT 1 T Y HHRT: 9T T 67

A)11:8
B)7:6
C)8:11
D)6:7

Answer : D



Question : 88
Y (U.d. 86-90) : = foU TP T & T 3T HR ITP d1¢ 3 aTad Ul & IR SIU|

T 3{THT-3ET 61 § HRRd Higarsll 3R Tou! &I It

FAfgemd
[]g&q
3500 —
3000
2500 Z .
1 =7

Tllell &t FIe=n
[ T 11
[ T 1T 11

2000
1500

1000 T

500

UH-88 : T3 E A Afarsit o1 T I WIS & Hd HHATRA! B ST BT AT fare=1 ufawrd g2
A) 58
B) 60
C) 52
D) 62

Answer : C

Question : 89
frder (0. 4. 86-90) : T AT U &7 & § 31e08 HR I d1G 3 91 Ui & IR S|

T 3{THT- e 31 § BriRd Higarsil 3R goul & T

e

[] 1
3500 —
3000
2500 Z

==

2000
1500

1000 T

500

cliell 61 Fe=
[ T T 1

UY-89 : Tft eI & AT Afganst &t Ho U faval g2



A) 11540
B) 11750
C) 12440
D) 10250

Answer : B

Question : 90
fAd=r (u.3. 86-90) : 2 feT UTH BT &4 T 310 B ISP dlE 3114 T UL & IR SHforg|

T S{THT-31eT a1 | HRRT Afgarasll 3R Jou! &t Tw=

Fifgemd
O go9
3500

3000
2500 Zgu

2000

1500
1000 11
500

cllell &I FHIe=
[ T 11
[ T 1T 11

UH-90 : TS C 3R B H FATTHR HTH PR IQ HHATRG! 1 Hl TS T 87

A) 8950
B) 9520
C) 8250
D) 9250

Answer : D

Question : 91
fAd=r (U, H. 91-95) : <t TS TIfRTHT BT 3T HR IH TR TR U & IR ST

ot Uiume o 5 fafys foal § 4 SreT-3reT R @ o< Y fedhel & e ¥ Grid Siel

-

THIR 90 9% 110 105
WeEaR | 75 80 100 90
JUAR 104 120 9% 118




TEAR | 84 98 105 91
YHAR | 80 72 64 72

UH-91 : R D I HIAAR dU1 §YAR Bl odl T Gl fChel ol AT TUT RIF A H §YAR & ad 7T H [l bl
BT b W fbell H: ST 87

A)6:5
B)3:2
C)5:4
D)2:1

Answer : D

Question : 92
A= (0. €. 91-95) : Tt TS TIfRTDT BT eI B IH TR TR U b IR ST

ot o & 5 faftre fa= § 4 3renT-siei wiFl @ 99 7T fewel &t e ¥ grafRid st

dHAR | 90 % 110 105
HIEdR 75 80 100 90
FUAR 104 120 % 118
FAR 84 98 105 91
EHAR 80 72 64 72

UH-92 : RIF C Y THIR, FYIR IUT YHAR P! 9l MY fewmel Bt 3ivya IReAm e g2

A) 91
B) 89
C) 90
D) 88

Answer : C

Question : 93
fd=r (U, 9. 91-95) : &} 7S AIferdT T 3T B IF W YTRT Ui & IR ST

ot giume o 5 fafia foAl § 4 S1eT-3reT RiFT ¥ o ¢ edhel o We ¥ qid siel



WHER | 90 % 110 105
WEaR | 75 80 100 90
gUYaR | 104 120 9% 118
AR | 84 98 105 91
AR | 80 72 64 72

UH-93 : UG HICIIR DI WM E F o 7Y el Pt H-, WM A TUT RIF B ¥ HIAAR Bl o9 T $ e Db
IS P > ¢, T8 HICAR Bl R E § e fespe o= mge

A) 60

B) 65

C) 70

D) 75

Answer : D

Question : 94
fAd=r (9. €. 91-95) : T TS TIfRTHT BT 3T HR IH TR MMUTRT U & IR ST

ot giome o 5 fAfys foal & 4 SreT-3re R 9§ 99 Y el ot e I gaid siel

dHER | 90 % 110 105
AR 75 80 100 90
gUaR | 104 120 9% 118
TRaR | 84 98 105 91
LHAR | 80 72 64 72

UH-94 : R B TUT M D Y YHAR & 9 T Hdl fchel BI WA a1 61 VMl U AR &I 9d T Hd el
DI RS F A fdT R 82

A) 9
B) 12
C) 11
D) 14

Answer : B

Question : 95



A= (U. . 91-95) : &1 7S AIfTHT BT 3eqT B IY W 3NYTRT U & IR <Hfor|

ot Uiume & 5 fAfys faai § 4 SreT-3reT R § 91 Y fedhel o e T Grafd STel

THIR 90 9% 110 105
HITAAR 75 80 100 90
FYAR 104 120 9% 118

TEAR | 84 98 105 91
YHAR | 80 72 64 72

UH-95 : RIH A Y GIHIR Dl s T fehe] ol AT, S8 RIF Y YehdR Dl od Y fehel Dl T U fova wf=rd
3P 2t?

A) 25%
B) 22.5%
C) 15%
D) 12.5%

Answer : D

Question : 96

3= (w. H. 96-100) : fAT T U ATE qT GAT3T HT eAMYGD 31eqg IO qUT ISP IURI QU T Ui H
IR I

WR-1 3R ©WR-Il ¥ 3: fAfiF yoR & TRy &1 ufaxa

-1 -1

A A
(Bl (B
I B I B
‘ ‘\-4*

14%

D \C D 4C
16% ' 8% 12% Y18%

ACH F1 T I SZACH Bl Pl HF

=

= 12600 = 14500

UH-96 : TR-1 H UHR D TUT UHR A & TRACH BT TN, ©R-1| & [ THR & TRAC F T SR 82

A) F
B) A



QcC
D)E

Answer : B
Question : 97

=1 (v. H. 96-100) : fAT T U ATE qUT GA13T HT AMYGDH 31eqTT I qUT IHDH IURI [G¥ T Ui B
I difw|

TWR-1 3R ©WR-1Il ¥ : A" yoR & TR¥cH &1 ufaza

UY-97 : C UHR & TRACH B! GHI €K B Gl AT T 57

A) 3770
B) 2610
C) 3276
D) 3618

Answer : D

Question : 98

3= (w. H. 96-100) : fAT T U A1¢ qT G137 HT eAMYGD 31eqg I TUT TP IURI QU T Ui H
IR I

WR-1 3R ®WR-Il ¥ 3: AfiF yoR & TR &1 ufaza



UH-98 : THI €N H fhd UHR & TRACH BT 3R TaNID 87

A) E
B) D
C)B
D) C

Answer : D

Question : 99

fd=r (. 3. 96-100) : U 7T U AT TUT Y13l o1 YD AT Do aUT ITb IURI 1T TT YT &
IR I

WR-1 3R ©WR-Il ¥ : s yoR & TRy &1 ufaxa

-1 -1

o

SI23ACH Bl Dol AT SIZACH Bl Pol HI=

= -

= 12600 = 14500

UY-99 : ©R-| H D UHR & TRACY WR-1I F 3 ThR & TRAT ¥ fodn ufawra sarer 87
A) 25
B) 35
C) 40
D) 15

Answer : D

Question : 100



=T (0. 3. 96-100) : 3T T IS TTC qUT GIISHT T AMYAD AT Bifod qUT ITdb SURT QU T Yo H1
IR ATl

WR-1 3R ©WR-Il ¥ : AfiF yoR & TR &1 ufaza

SI33ACH Fl P A SI3AcH B Pl I
= 12600 = 14500

UH-100 : CR-| T E UHR & TRACH &1 G, ©R-1| H B UHR & TRACH I BT BT AT fova U= 82

A) 46
B) 32
C) 68
D) 58

Answer : C



